TALBERT, BRIGHT & ELLINGTON

Engineering & Planning Consultants

November 19, 2021

Ms. Valerie Steele, Director Mid-Carolina Regional Airport 3670 Airport Loop Road Salisbury, NC 28147

Re: Bid Tabulation

On-Airport Obstruction Removal Mid-Carolina Regional Airport Salisbury, North Carolina TBE Project No. 3708-2001

Dear Ms. Steele,

Please find enclosed a copy of the Bid Tabulation for the above referenced project.

J. D. Goodrum Co., Inc. submitted the low Base Bid in the amount of six hundred twenty thousand, two hundred seventy-three dollars and ninety-seven cents (\$620,273.97). J. D. Goodrum Co., Inc. submitted the low Alternate Bid in the amount of four hundred thirty-nine thousand, two hundred ninety-two dollars and ninety-nine cents (\$439,292.99). A total of seven (7) bidders submitted a bid on the project. The engineer's estimate has been included on the bid tab.

By copy of this letter, copies of the Bid Tabulations are being forwarded to all bidders.

If you should have any questions concerning this matter, please do not hesitate to contact our office.

Sincerely.

J. Andrew Shook, P.E.

Enclosure

cc: Rachel Bingham, NCDOT-Div. of Aviation

All bidders

BASE BID (Page 1 of 3)

November	18,	2021
----------	-----	------

		NOVERILLE 10, 2021			CORNE	DODRUM LIUS, NC #19284	SALIS	ISTRUCTION BURY, NC #49998	HARM	"ANDSCAPING, INC. IONY, NC #67108
ITEM	SPEC	BASE BID					UNIT PRICE	EXT TOTAL	UNIT PRICE	EXT TOTAL
NO.	NO.	DESCRIPTION	UNIT	QTY_	UNIT PRICE	EXT TOTAL			\$70,000,00	\$70,000.00
1	C-105	MOBILIZATION	1	LS	\$50,407.18	\$50,407.18	\$92,950.00	\$92,950.00		
2	C-102	TEMPORARY SILT FENCE	17,300	LF	\$2.03	\$35,119.00	\$3.91	\$67,643.00	\$2.60	\$44,980.00
3		TEMPORARY CONSTRUCTION ENTRANCE	2	EA	\$3,575.40	\$7,150.80	\$9,680.00	\$19,360.00	\$3,300.00	\$6,600.00
A		TEMPORARY SEEDING (MULCHED)	44	AC	\$2,264.42	\$99,634.48	\$1,925.00	\$84,700.00	\$450.00	\$19,800.00
5		TEMPORARY SEDIMENT BASIN WITH SKIMMER ASSEMBLY	2	EA	\$23,709.76	\$47,419.52	\$17,160.00	\$34,320.00	\$28,000.00	\$56,000.00
5		TEMPORARY ROCK OVERFLOW OUTLET	34	EA	\$276.21	\$9,391.14	\$1,540.00	\$52,360.00	\$250.00	\$8,500.00
7		TEMPORARY DIVERSION DITCH	2.000	LF	\$1.13	\$2,260.00	\$12.10	\$24,200.00	\$5.00	\$10,000.00
/		RIP RAP, CLASS B EROSION CONTROL STONE	15	CY	\$160.89	\$2,413.35	\$61.60	\$924.00	\$250.00	\$3,750.00
В		HAND CLEARING (NO GRUBBING)	3	AC	\$4,171.30	\$12,513.90	\$3,850.00	\$11,550.00	\$5,000.00	\$15,000.00
9			44	AC	\$5,541.87	\$243,842.28	\$4,950,00	\$217,800,00	\$8,500.00	\$374,000.00
10		CLEARING AND GRUBBING		_	\$2,502.78	\$110,122.32	\$2,420.00	\$106,480,00	\$2,450.00	\$107,800.00
11	T-901	SEEDING (MULCHED)	44	AC_	\$2,502.70	\$110,122.02	\$2,420.00	\$100,100.00	1-	
		BASE BID AMOUNT:				\$620,273.97		\$712,287.00		\$716,430.00

^{*} ERROR IN EXTENDED TOTAL

THEREBY CERTIFY THIS TABULATION OF BIDS TO BE CORRECT

ALBERT BRIGHT & ELLINGTON, INC.

DATE

^{**} ERROR IN TOTAL BID AMOUNT

BASE BID (Page 1 of 3)

November 18, 2021

						OODRUM	KMD CONSTRUCTION SALISBURY, NC			ANDSCAPING, INC.
						ELIUS, NC #19284		#49998		ONY, NC #67108
ITEM	SPEC	BASE BID								
NO.	NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	EXT TOTAL	UNIT PRICE	EXT TOTAL	UNIT PRICE	EXT TOTAL
1	C-105	MOBILIZATION	1	LS	\$50,407.18	\$50,407.18	\$92,950.00	\$92,950.00	\$70,000.00	\$70,000.00
2	C-102	TEMPORARY SILT FENCE	17,300	LF	\$2.03	\$35,119.00	\$3.91	\$67,643.00	\$2.60	\$44,980.00
3	C-102	TEMPORARY CONSTRUCTION ENTRANCE	2	EA	\$3,575.40	\$7,150.80	\$9,680.00	\$19,360.00	\$3,300.00	\$6,600.00
4	C-102	TEMPORARY SEEDING (MULCHED)	44	AC	\$2,264.42	\$99,634.48	\$1,925.00	\$84,700.00	\$450.00	\$19,800.00
5	C-102	TEMPORARY SEDIMENT BASIN WITH SKIMMER ASSEMBLY	2	EA	\$23,709.76	\$47,419.52	\$17,160.00	\$34,320.00	\$28,000.00	\$56,000.00
6	C-102	TEMPORARY ROCK OVERFLOW OUTLET	34	EA	\$276.21	\$9,391.14	\$1,540.00	\$52,360.00	\$250.00	\$8,500.00
7	C-102	TEMPORARY DIVERSION DITCH	2,000	LF	\$1.13	\$2,260.00	\$12.10	\$24,200.00	\$5.00	\$10,000.00
8	C-102	RIP RAP, CLASS B EROSION CONTROL STONE	15	CY	\$160.89	\$2,413.35	\$61.60	\$924.00	\$250.00	\$3,750.00
9	P-151	HAND CLEARING (NO GRUBBING)	3	AC	\$4,171.30	\$12,513.90	\$3,850.00	\$11,550.00	\$5,000.00	\$15,000.00
10	P-151	CLEARING AND GRUBBING	44	AC	\$5,541.87	\$243,842.28	\$4,950.00	\$217,800.00	\$8,500.00	\$374,000.00
11	T-901	SEEDING (MULCHED)	44	AC	\$2,502.78	\$110,122.32	\$2,420.00	\$106,480.00	\$2,450.00	\$107,800.00
		BASE BID AMOUNT:				\$620,273.97		\$712,287.00		\$716,430.00

^{*} ERROR IN EXTENDED TOTAL

I HEREBY CERTIFY THIS TABULATION OF BIDS TO BE CORRECT.

TALBERT BRIGHT & ELLINGTON, INC.	DATE

^{**} ERROR IN TOTAL BID AMOUNT

BASE BID (Page 2 of 3)

		November 10, 2021				AROLINA CLEANING & RESTORATION, LLC GREENVILLE, NC LIC.#82325			TEWORKS, INC. BROVE, NC #45224	TRIANGLE GRADING & PAVING, INC BURLINGTON, NC LIC.#17456	
ITEM											
NO.	NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	EXT TOTAL		UNIT PRICE	EXT TOTAL	UNIT PRICE	EXT TOTAL
1	C-105	MOBILIZATION	1	LS	\$10,500.00	\$10,500.00		\$64,459.00	\$64,459.00	\$86,000.00	\$86,000.00
2	C-102	TEMPORARY SILT FENCE	17,300	LF	\$2.46	\$42,558.00		\$3.72	\$64,356.00	\$2.65	\$45,845.00
3	C-102	TEMPORARY CONSTRUCTION ENTRANCE	2	EA	\$2,500.00	\$5,000.00		\$5,000.00	\$10,000.00	\$6,000.00	\$12,000.00
4	C-102	TEMPORARY SEEDING (MULCHED)	44	AC	\$1,863.63	\$81,999.72		\$2,405.00	\$105,820.00	\$1,600.00	\$70,400.00
5	C-102	TEMPORARY SEDIMENT BASIN WITH SKIMMER ASSEMBLY	2	EA	\$2,521.32	\$5,042.64		\$44,106.00	\$88,212.00	\$21,000.00	\$42,000.00
6	C-102	TEMPORARY ROCK OVERFLOW OUTLET	34	EA	\$305.88	\$10,399.92		\$500.00	\$17,000.00	\$200.00	\$6,800.00
7	C-102	TEMPORARY DIVERSION DITCH	2,000	LF	\$10.00	\$20,000.00		\$2.80	\$5,600.00	\$5.00	\$10,000.00
8	C-102	RIP RAP, CLASS B EROSION CONTROL STONE	15	CY	\$100.00	\$1,500.00		\$100.00	\$1,500.00	\$130.00	\$1,950.00
9	P-151	HAND CLEARING (NO GRUBBING)	3	AC	\$7,500.00	\$22,500.00		\$10,338.00	\$31,014.00	\$20,000.00	\$60,000.00
10	P-151	CLEARING AND GRUBBING	44	AC	\$10,250.00	\$451,000.00		\$7,039.00	\$309,716.00	\$9,500.00	\$418,000.00
11	T-901	SEEDING (MULCHED)	44	AC	\$1,863.63	\$81,999.72		\$2,658.00	\$116,952.00	\$2,600.00	\$114,400.00
		BASE BID AMOUNT:				\$732,500.00			\$814,629.00		\$867,395.00

BASE BID (Page 3 of 3)

					L&M CONSTRUC	TION OF BLAIRS, LLC	ENGI	NEER'S
					STATE	SVILLE, NC	EST	IMATE
					LIC.#61091			
ITEM	SPEC	BASE BID						
NO.	NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	EXT TOTAL	UNIT PRICE	EXT TOTAL
1	C-105	MOBILIZATION	1	LS	\$120,540.00	\$120,540.00	\$68,000.00	\$68,000.00
2	C-102	TEMPORARY SILT FENCE	17,300	LF	\$4.79	\$82,867.00	\$3.50	\$60,550.00
3	C-102	TEMPORARY CONSTRUCTION ENTRANCE	2	EA	\$1,000.00	\$2,000.00	\$5,000.00	\$10,000.00
4	C-102	TEMPORARY SEEDING (MULCHED)	44	AC	\$130.48	\$5,741.12	\$1,600.00	\$70,400.00
5	C-102	TEMPORARY SEDIMENT BASIN WITH SKIMMER ASSEMBLY	2	EA	\$24,404.00	\$48,808.00	\$18,000.00	\$36,000.00
6	C-102	TEMPORARY ROCK OVERFLOW OUTLET	34	EA	\$101.21	\$3,441.14	\$450.00	\$15,300.00
7	C-102	TEMPORARY DIVERSION DITCH	2,000	LF	\$1.88	\$3,760.00	\$3.00	\$6,000.00
8	C-102	RIP RAP, CLASS B EROSION CONTROL STONE	15	CY	\$117.87	\$1,768.05	\$200.00	\$3,000.00
9	P-151	HAND CLEARING (NO GRUBBING)	3	AC	\$15,000.00	\$45,000.00	\$10,000.00	\$30,000.00
10	P-151	CLEARING AND GRUBBING	44	AC	\$13,909.09	\$611,999.96	\$8,000.00	\$352,000.00
11	T-901	SEEDING (MULCHED)	44	AC	\$329.82	\$14,512.08	\$2,600.00	\$114,400.00
		BASE BID AMOUNT:				\$940,437.35		\$765,650.00

ALTERNATE BID (Page 1 of 3)

Novem	ber 1	18,	2021
-------	-------	-----	------

	MOADIMENT 10, EVE.				J.D. GOODRUM		KMD CON	KMD CONSTRUCTION		CAROLINA CLEANING & RESTORATION, I	
					CORNE	LIUS, NC	SALISI	BURY, NC	G	REENVILLE, NC	
					LIC.#19284		LIC.#49998			LIC.#82325	
ITEM	EM SPEC BASE BID										
		DESCRIPTION	UNIT	QTY	UNIT PRICE	EXT TOTAL	UNIT PRICE	EXT TOTAL	UNIT PRICE	EXT TOTAL	
NO.			1	LS	\$48,559,89	\$48,559.89	\$33,000.00	\$33,000.00	\$10,000.00	\$10,000.00	
1		MOBILIZATION	44.000	LF	\$2.03	\$28,826.00	\$3.91	\$55,522.00	\$2.46	\$34,932.00	
2		EMPORARY SILT FENCE	14,200		\$3,575.40		\$9,680.00	\$19,360.00	\$2,500.00	\$5,000.00	
3		EMPORARY CONSTRUCTION ENTRANCE	2	EA			\$1,925.00	\$32,725.00	\$1,863,63	\$31,681.71	
4		EMPORARY SEEDING (MULCHED)	17	AC	\$2,264,42	\$38,495.14		\$34,320.00	\$2,521.32	\$5,042.64	
5		EMPORARY SEDIMENT BASIN WITH SKIMMER ASSEMBLY	2	EA	\$23,709.76	\$47,419.52	\$17,160.00		\$305.88	\$10,399.92	-
6	C-102 T	EMPORARY ROCK OVERFLOW OUTLET	34	EA	\$276.21	\$9,391.14	\$1,540.00	\$52,360.00		\$20,000.00	
7	C-102 T	EMPORARY DIVERSION DITCH	2,000	LF	\$1.13	\$2,260.00	\$12.10	\$24,200.00	\$10.00		
8	C-102 R	RIP RAP, CLASS B EROSION CONTROL STONE	15	CY	\$143.02	\$2,145.30	\$39.60	\$594.00	\$100.00	\$1,500.00	
9		AND CLEARING (NO GRUBBING)	3	AC	\$4,171.30	\$12,513,90	\$3,850.00	\$11,550.00	\$7,500.00	\$22,500.00	
10		CLEARING AND GRUBBING	17	AC	\$5,601.46	\$95,224.82	\$5,280.00	\$89,760.00	\$10,250.00	\$174,250.00	
11		CLEARING AND GRINDING	27	AC	\$3,694.58	\$99,753.66	\$3,190.00	\$86,130.00	\$6,250.00	\$168,750.00	
112		SEEDING (MULCHED)	19	AC	\$2,502,78	\$47,552.82	\$2,420.00	\$45,980.00	\$1,863,63	\$35,408.97	
_12	11-901 19	DEEDING (MOEGHED)									
		BASE BID AMOUNT:				\$439,292.99		\$485,501.00		\$519,465.24	
1	_ID	SASE BID ANIOUNT.					 				

HEREBY CERTIFY THIS ABULATION OF BIDS TO BE CORRECT.

^{*} ERROR IN EXTENDED TOTAL
** ERROR IN TOTAL BID AMOUNT

ALTERNATE BID (Page 1 of 3)

November 18, 2021

					J.D. GOODRUM KMD CONSTRUCTION			AROLINA CLEANING & RESTORATION, LLC				
					CORNE	LIUS, NC	SALISI	BURY, NC	GREENVILLE, NC			
					LIC.#19284 LIC.#49998			LIC.#82325				
ITEM	EM SPEC BASE BID											
NO.	NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	EXT TOTAL	UNIT PRICE	EXT TOTAL	UNIT PRICE	EXT TOTAL	-	
1	C-105	MOBILIZATION	1	LS	\$48,559.89	\$48,559.89	\$33,000.00	\$33,000.00	\$10,000.00	\$10,000.00		
2	C-102	TEMPORARY SILT FENCE	14,200	LF	\$2.03	\$28,826.00	\$3.91	\$55,522.00	\$2.46	\$34,932.00		
3	C-102	TEMPORARY CONSTRUCTION ENTRANCE	2	EA	\$3,575.40	\$7,150.80	\$9,680.00	\$19,360.00	\$2,500.00	\$5,000.00		
4	C-102	TEMPORARY SEEDING (MULCHED)	17	AC	\$2,264.42	\$38,495.14	\$1,925.00	\$32,725.00	\$1,863.63	\$31,681.71		
5	C-102	TEMPORARY SEDIMENT BASIN WITH SKIMMER ASSEMBLY	2	EA	\$23,709.76	\$47,419.52	\$17,160.00	\$34,320.00	\$2,521.32	\$5,042.64		
6	C-102	TEMPORARY ROCK OVERFLOW OUTLET	34	EA	\$276.21	\$9,391.14	\$1,540.00	\$52,360.00	\$305.88	\$10,399.92		
7	C-102	TEMPORARY DIVERSION DITCH	2,000	LF	\$1.13	\$2,260.00	\$12.10	\$24,200.00	\$10.00	\$20,000.00		
8	C-102	RIP RAP, CLASS B EROSION CONTROL STONE	15	CY	\$143.02	\$2,145.30	\$39.60	\$594.00	\$100.00	\$1,500.00		
9	P-151	HAND CLEARING (NO GRUBBING)	3	AC	\$4,171.30	\$12,513.90	\$3,850.00	\$11,550.00	\$7,500.00	\$22,500.00		
10		CLEARING AND GRUBBING	17	AC	\$5,601.46	\$95,224.82	\$5,280.00	\$89,760.00	\$10,250.00	\$174,250.00		
11	P-151	CLEARING AND GRINDING	27	AC	\$3,694.58	\$99,753.66	\$3,190.00	\$86,130.00	\$6,250.00	\$168,750.00		
12	T-901	SEEDING (MULCHED)	19	AC	\$2,502.78	\$47,552.82	\$2,420.00	\$45,980.00	\$1,863.63	\$35,408.97		
		BASE BID AMOUNT:				\$439,292.99		\$485,501.00		\$519,465.24		

^{*} ERROR IN EXTENDED TOTAL

I HEREBY CERTIFY THIS TABULATION OF BIDS TO BE CORRECT.

TALBERT BRIGHT & ELLINGTON, INC. DATE

^{**} ERROR IN TOTAL BID AMOUNT

ALTERNATE BID (Page 2 of 3)

					COUNTRY BOY LANDSCAPING, INC. HARMONY, NC LIC.#67108		CAROLINA SITEWORKS, INC. CHINA GROVE, NC LIC.#45224		FRIANGLE GRADING & PAVING, BURLINGTON, NC LIC.#17456	
ITEM	M SPEC BASE BID									
NO.	NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	EXT TOTAL	UNIT PRICE	EXT TOTAL	UNIT PRICE	EXT TOTAL
1	C-105	MOBILIZATION	1	LS	\$54,000.00	\$54,000.00	\$60,000.00	\$60,000.00	\$68,000.00	\$68,000.00
2	C-102	TEMPORARY SILT FENCE	14,200	LF	\$2.60	\$36,920.00	\$3.72	\$52,824.00	\$2.65	\$37,630.00
3	C-102	TEMPORARY CONSTRUCTION ENTRANCE	2	EA	\$3,300.00	\$6,600.00	\$5,000.00	\$10,000.00	\$6,000.00	\$12,000.00
4	C-102	TEMPORARY SEEDING (MULCHED)	17	AC	\$450.00	\$7,650.00	\$2,405.00	\$40,885.00	\$1,600.00	\$27,200.00
5	C-102	TEMPORARY SEDIMENT BASIN WITH SKIMMER ASSEMBLY	2	EA	\$31,000.00	\$62,000.00	\$44,106.00	\$88,212.00	\$21,000.00	\$42,000.00
6	C-102	TEMPORARY ROCK OVERFLOW OUTLET	34	EA	\$250.00	\$8,500.00	\$500.00	\$17,000.00	\$200.00	\$6,800.00
7	C-102	TEMPORARY DIVERSION DITCH	2,000	LF	\$5.00	\$10,000.00	\$2.80	\$5,600.00	\$5.00	\$10,000.00
8	C-102	RIP RAP, CLASS B EROSION CONTROL STONE	15	CY	\$250.00	\$3,750.00	\$100.00	\$1,500.00	\$130.00	\$1,950.00
9	P-151	HAND CLEARING (NO GRUBBING)	3	AC	\$5,000.00	\$15,000.00	\$10,338.00	\$31,014.00	\$20,000.00	\$60,000.00
10	P-151	CLEARING AND GRUBBING	17	AC	\$8,500.00	\$144,500.00	\$7,039.00	\$119,663.00	\$9,500.00	\$161,500.00
11	P-151	CLEARING AND GRINDING	27	AC	\$6,000.00	\$162,000.00	\$5,056.00	\$136,512.00	\$7,610.00	\$205,470.00
12	T-901	SEEDING (MULCHED)	19	AC	\$2,450.00	\$46,550.00	\$2,658.00	\$50,502.00	\$2,600.00	\$49,400.00
		BASE BID AMOUNT:				\$557,470.00		\$613,712.00		\$681,950.00

ALTERNATE BID (Page 3 of 3)

					STATES	TION OF BLAIRS, LLC SVILLE, NC #61091	ENGINEER'S ESTIMATE		
ITEM	SPEC	BASE BID							
NO.	NO.	DESCRIPTION	UNIT	QTY	UNIT PRICE	EXT TOTAL	UNIT PRICE	EXT TOTAL	
1	C-105	MOBILIZATION	1	LS	\$120,540.00	\$120,540.00		\$0.00	
2	C-102	TEMPORARY SILT FENCE	14,200	LF	\$4.79	\$68,018.00	\$3.50	\$49,700.00	
3	C-102	TEMPORARY CONSTRUCTION ENTRANCE	2	EA	\$1,000.00	\$2,000.00	\$5,000.00	\$10,000.00	
4	C-102	TEMPORARY SEEDING (MULCHED)	17	AC	\$147.06	\$2,500.02	\$1,600.00	\$27,200.00	
5	C-102	TEMPORARY SEDIMENT BASIN WITH SKIMMER ASSEMBLY	2	EA	\$24,338.00	\$48,676.00	\$18,000.00	\$36,000.00	
6	C-102	TEMPORARY ROCK OVERFLOW OUTLET	34	EA	\$101.21	\$3,441.14	\$450.00	\$15,300.00	
7	C-102	TEMPORARY DIVERSION DITCH	2,000	LF	\$1.88	\$3,760.00	\$3.00	\$6,000.00	
8	C-102	RIP RAP, CLASS B EROSION CONTROL STONE	15	CY	\$117.87	\$1,768.05	\$200.00	\$3,000.00	
9	P-151	HAND CLEARING (NO GRUBBING)	3	AC	\$15,000.00	\$45,000.00	\$10,000.00	\$30,000.00	
10	P-151	CLEARING AND GRUBBING	17	AC	\$13,909.12	\$236,455.04	\$8,000.00	\$136,000.00	
11	P-151	CLEARING AND GRINDING	27	AC	\$12,000.00	\$324,000.00	\$6,000.00	\$162,000.00	
12	T-901	SEEDING (MULCHED)	19	AC	\$329.84	\$6,266.96	\$2,600.00	\$49,400.00	
		BASE BID AMOUNT:				\$862,425.21	-	\$524,600.00	